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Algebraic Method 2. Substitution

Best used when one of the variables is isolated in one
equation but not the other. Usually one equation is in
standard form and the other is in general form.

Example: 4x—-2y+10=0 Example: 3x-5y =30
y :é X
~Or X
We substitute what is equal to in the other equation,
then solve the equation.
4x-2(4x)+10=0  Replace the variable in one

4x —8x+10=0 of the original equations
Ax+10=0 to find the value of the
“4x =-10 o’cher varl'ab[e Cl\ﬁck

e Tx~2y + I0* =0
rT /4(29 -z(lv t10=0
-20 +l° 0

Solution: (2.5,10)
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example: x@
3X+2y =5

=
3(—y—4 +2y=5

3y—1242y=>5 . check

Siphe T S s
e et I A | et
;:_17____,' x=13 5:()'

Solution: (13,-17)
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e Solve thesystem - 2
example: Solve the system 3x—2y=18
Neither variable is isolated. But in the first equation,
we can see that it would be easy to isolate V.

y:
So... ?
3x—-2y =18
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y=-2x+5
3x-2y=18

3x—2(—2x+5)=18
3x+4x—-10=18

7x-10=18 ;L!%,\i
7x—10+10=18+10 y=-2(4)+5 4 ,3"3\“\1:6
Tx =28 y=-8+5/3 2" \""\\I
x=4 =-3

Solution is (4,-3)
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¢ S ?

3.6) 2x-3yz-3| b y=2x-5 9 7 5 \3
Y223 2x- 5y 9 261~ Sy =
2. - 3(2x )=-7F 2x- 5(2_,{.5}- ¢ @") Sy = 3
2y -6bx+9:13 2x- 0% +25= 9 e
- “\\TM?? ‘8’\_%3‘5:"_1 Oy 1—22 _ 557‘ E
- =~k Y N )i =\
2(4) 3X 1(4) Xs):" 1 7=:2f1\)—5 //ﬁc\ x=30) 4\ J2)- S(')
I ¥-15:-3 {459 = q &‘35?53

( 35\“ ) 4, 7
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Example: A father is 9 years younger than 4 times his
daughter’s age. The difference of their ages

is 27.
How old is each person?
@ \(“’““btw f athec's agf— 3, hder ‘s 9@ X

@ Sﬁ_ﬁ_j}_‘km 7 4/7( T Q) Solve 4’(\9 SEL
O%Q'\Slwl‘tﬁ Guadfron L}X- 9-X- 21 29-12 + 277.
FNDGMS\\'\L\\g {.JZ\IVS sd ’3)‘)(-0\:2} 29:27

3 fﬂ?wus%‘i Ax =3,
xel),
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G 0 /ﬁq km\j'\e\ s 10m oore ‘W\ﬂ‘\r\ -h,o\ce_
a) X o A

Y \\ru. ’Q-Ul.lmc—\or‘ 'S 1\Om s

TL e land ée,\\s dox 3 So -\R‘)
Hhan ek 15 s valve of Thio orope’

) 'Q;QH'R : Q,,,\19\,
Q ) / ,?) 2y=110 () s 077”2(2’(”’) "
7 2X+10 L Ix + 9x 4205119

- 2(\33“0 Yy + o Ao Oy +20= 110

- 4p o = lo Gr- 90

; ; x5
@ o ohxy  © 6 x5% - 30 o0
AN M —
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Solve the systems.

1 y=5x+9 > ,
by companison
y=3x-12

B
27\'\ C\ S R
17\: -2\
X = -0
‘7;3("10.3)-\1
~-35-12

s ()os,—‘/35>

March 09, 2023

w /2 y=(@x-D

Gl 3x_2y+11=0

3x—2(‘/x‘9 ti=0

3y — 8x 2+ ~0

y :4(2.(0)- \

- 104
= qg,
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